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c) Find the stationary points of the function and determine their type.
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QUESTION 2 (30 Points)

Consider the function f(x,y)=x"—-xy-)’—x’. Determine the stationary points of
f(x,y) and mention whether they are local maximum, local minimum, and saddle points.
What can you say about global minimum and maximum points?
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QUESTION 3 (40 Points)

Consider the following NLP where In denotes the natural logarithm:

max f(x,y)= 1r1(1+x)—y2
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@ a) Write down the KKT conditions to show that (0,0) is not a local maximum solution. (20)
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b) Find a local optimal solution and mention why it is also a global optimal solution. (20)
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